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Aufgaben-Quickname: 4814

Aufgabe 1
Quick:
4814

Setze die richtige Zahl ein.

a) 280 − 60 = 220 b) 195 − 80 = 115 c) 868 − 30 = 838
d) 786 − 50 = 736 e) 366 − 60 = 306 f) 477 − 60 = 417
g) 178 − 40 = 138 h) 743 − 20 = 723 i) 494 − 40 = 454
j) 293 − 80 = 213
Aufgabe 2

Quick:
4814

Setze die richtige Zahl ein.

a) 6634 − 500 = 6134 b) 6844 − 700 = 6144 c) 8892 − 700 = 8192
d) 5898 − 800 = 5098 e) 6902 − 400 = 6502 f) 9575 − 200 = 9375
g) 4650 − 300 = 4350 h) 7602 − 300 = 7302 i) 9972 − 800 = 9172
j) 6909 − 800 = 6109

Aufgabe 3
Quick:
4814

Setze die richtige Zahl ein.

a) 4629 − 8 = 4621 b) 6479 − 8 = 6471 c) 2687 − 3 = 2684
d) 9178 − 5 = 9173 e) 5249 − 9 = 5240 f) 8316 − 2 = 8314
g) 3549 − 8 = 3541 h) 4056 − 4 = 4052 i) 6716 − 6 = 6710
j) 7297 − 6 = 7291
Aufgabe 4

Quick:
4814

Setze die richtige Zahl ein.

a) 2771 − 20 = 2751 b) 8083 − 30 = 8053 c) 8651 − 40 = 8611
d) 3574 − 40 = 3534 e) 6760 − 10 = 6750 f) 1471 − 50 = 1421
g) 6890 − 50 = 6840 h) 3791 − 80 = 3711 i) 8466 − 60 = 8406
j) 5289 − 80 = 5209

Viel Erfolg!
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